
~GRAVELY
A DIVISION OF CLARKE-GRAVELY CORPORATION

A Studebaker-Worthington Company

ILLUSTRATED
PARTS LIST

HOURMETER KIT
Model No. 23335

Form No. 23344 (9-77)

PRINTED IN USA

ITEM NO.

1
2
3
4
5
6
7
8

PART NO.

180018
180121
120423
419454
21414
21425
23342
456004

DESCRIPTION

Bolt, Hex; 1/4-20 x .625
Bolt, Hex; 3/8-16 x .875
Washer, Lock; .25 Int. Tooth
Nut, Lock; 1/4-20 Washer Insert
Hourmeter
Wire, Instrument Panel
Bracket, Hourmeter
Nut, Lock; 3/8-16 Washer InsertBrentChalmers.com




